Binomial Expansion

The binomial expansion of

(1 +ax)'?

up to and including the term in x? is
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where a and k are constanfs.
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a. Showthata= —

b. Hence find the value of k

Using the expansion and making your method clear,

C.

12
find an estimate for the value of [—] , giving your answer to 4 decimal places.
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Using the binomial expansion, the coefficient of the xterm is givew by:
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Again, using the binomial expansion, the coefficient of the &% is given by:
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Find the value of xloy solving:
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Substitute into the binomial expansion:
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which aives:

14

12
A
[—] = 24939 +to 4 decimal places
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